Swivel & Clamp Pneumatic Cylinders

T2} Products Content

N ¥
3

. ]AS4 Lever clamp cylinders \ @25~@63 e P.232
|- @

NAS?2 New swivel &

. @25~@B3 P.235
clamp cylinders

Single side swivel clamp (direction)

rotate stroke

Double side swivel Swivel clamp-

clamp (direction locking/ release method
| release direction

Wrench fixed E
pressure plate

locking direction

i 90°R

(rotate left) \»7 \Ei/ V (rotate right)

press stroke

\

| 2 |
© bore screw size |locking force(N - m)
12,16 M4x0.7 1.4~2.6
@ 20~40 | M6X1.0 9.0~12.0
50 M8x1.25 11.4~22.4
63 M10x1.25 25~44.9

231



JFC AS4 Lever Clamp Cylinders

AS4 Lever clamp cylinders

« Uses a standard compact cylinder and is equipped with
a lever mechanism to clamp the workpiece in a straight
line without any axial angle.

«  Magnetic sensor can be installed.

Air
Preparation
(G

(@)go = @ alel[ooldle}a) @ AS4 || SD || 40 | Txn |

‘ ‘ ‘ ‘ ‘ Pneumatic
Valves
. installation magnetic magnetic
series type 220D sensor sensor series
Lever Sb: 25:25mm | | blank: no sensor blank: no sensor Pneumatic
clamp basic Cylinders
cylinders 32:32mm | |1.2 outgoing lines, JFS-02
EB: 40:40mm standard lineis 2 m
rear flange

50:50mm ||PPNP
3 outgoing lines,

63:63mm | |standard lineis 2 m Pneumatic
Connectors

N:NPN
3 outgoing lines,
standard lineis 2 m

n: gty

*The order with G
mark butnoTxn
mark indicates that
only induction
magnet is attached
without magnetic
sensor

A blank = indicates standard, no need to specify when order

Pneumatic
Accessories

Parts order indication

AS4 | SD | 40 | pistonrod bore (mm) 25 \ 32 \ 40 \ 50 \ 63
‘ ‘ ‘ ‘ fluid Filter compressed air
series type bore part name working pressure area (kgf/ cm?)| 0.5~9.9
‘ clamping method up and down
refer to internal type double acting
structure and
part name swivel angle 0°
stroke (mm) 20 ‘ 20 ‘ 25 ‘ 30 ‘ 35

232



JFC AS4 Lever Clamp Cylinders

Clamping Force

F :clamp force (Kgf)
f :cylinder theoretical force (Kgf)

L1 :distance between output force fxL1
& support (mm) F= | 2

L12 : distance between clamping
force & support (mm)

Theoretical output table

units:kg
bore shaft piston theoretical force (kgf) ‘ clamp force (kgf)
(mm) diameter] pressure working pressure area (kgf/cm?)
(mm) jarea(em?) ™3 T T5 T ¢ [ 7 | 8 | 3 |4 | 5] 6 | 7] 8
25 10 4.9 147 | 19.6 | 245 | 294 | 343 | 39.2 | 54 71 8.9 110.7 | 125 | 14.2
32 12 8.0 243 | 32,5 | 40.6 | 48.7 | 56.8 | 64.9 | 111 | 14.8 | 18.7 | 22.4 | 26.1 | 29.8
40 16 12.6 38.4 | 504 | 63.6 | 75.6 | 88.8 |[100.8| 21.4 | 28.4 | 35.5 | 42.7 | 49.8 | 56.9
50 20 19.6 594 | 78.4 | 98.6 |117.6 | 137.8|156.8| 37.5 | 50 | 62.5 | 75 87.6 | 100
63 20 31.2 93.4 | 46.8 | 156 |187.2|1218.3|249.5| 87.8 [116.9|146.2|175.5|204.8|233.9
units:g
25 32 40 50 63
SD: basic 360 600 850 1550 2100
FB: rear flange 400 640 890 1600 2600
Internal structure and parts name
@
item| part name qty | item | part name qty
™ platen 1 @) | piston seal 1 @
(@ | connector fix pin 2 @ | csnapring 2
® connector 2 @ head cover 1 @
@ | rod fix pin 1 back piston 1 4
®) rod cover seal 1 @ front piston 1 @_ O
(® | rod cover 1 body 1 9 @
@ | covero-ring 2 @ | rod 1 @ —{( :)
cushion gasket 2 round head screw 2 @
©® rod cover seal 1 connector socket 1 @
magnet 1 E snap fing 6 @ @
@ ©
@
@

233



JFC AS4 Lever Clamp Cylinders

External Dimensions

e SD-S basic ¢ locking e release
F
L3 _L2 L1
I @ &) w 7§
_f o
L] - Y 3
T
§ g
ol 1 J <
= m -
o L:! - L 4
Air
O Preparation
(FRL)
= =]
Pneumatic
Valves
e FB head flange * locking e release
F
L2 _ L1 G _
_ _ € Pneumatic
B K'ﬂ @}\\ K _§_= Cylinders
) 8
UF - /AR g
TE / -
: ¢ |
: H <| [l
2-T = i
4-P1 e 4—9FB i LJ ,;__.:ﬂ E::'i ]
L
& ; &
\ O
bl ¢ ! )
Y= 0/ I _r=
& v i =
acimulOL i HE N
,9}/ Pneumat.ic
”’60, stroke A|B|C|D|E F |FB| S P1 T | N | X | EF | TF ACCESSONEs
bore
25 20 114 | 73 | 51 | 42 | 13 | 57 | 55 | 40 |M6XP1.0 | 28 |85 | 28 | 42 | 54
32 20 125 |82.5|54.5| 50 | 16 | 60 | 5.5 | 44 |[M6XP1.0 | 34 | 9 | 34 | 48 | 58
40 25 132 | 92 | 61 |58.5| 16 | 63 | 6.6 | 52 |M8XP1.25| 40 | 10 | 40 | 58 | 68
50 30 149 | 104 | 68 |715| 22 | 70 | 9 | 62 |M8XP1.25| 48 | 10 | 40 | 66 | 82
63 35 158 | 119 | 77 |845| 22 | 70 | 9 | 75 |M8XP1.25| 60 | 11 | 50 | 78 | 96
I,
%y | UF | a- | b-| L1 | L2 T L3 G
bore
25 68 | 4 | 81 | 14 [33.5|M5XP0.8 | 5 | M6XP1.0
32 72 | 1.7 |73.7| 17 | 30 |RC 1/8" 7 | M8XP1.25
40 84 | 1.4 |73.7| 20 | 29 |RC 1/8" 7 | M8XP1.25
50 102 | 2.4 |72.4| 24 | 30 |RC 1/4" 8 | M10XP1.5
63 116 | 1.9 |67.3| 30 | 24 |RC 1/4" 8 | M10XP1.5

234



JFC

NAS2 Swivel & Clamp Cylinders

Order indication

NAS2 New swivel and clamp cylinders

This product is suitable for mass production parts machines
and MC accesories which help to improve production
efficiency

Main function: When the cylinder is activated, the pressure
plate will rotate to the designed angle during the piston's
pressing downward and continue press down in a straight
line until the pressure plate clamps the workpiece

NAS2 - SD SR 40 H 90
series installation turn form bore swivel
type angle
new SD: basic SR: singlle right 25:25mm | | standard 90°
swivel & . . . B o
clamp m%nifold block SL: single left 32:32mm | | special 45
cylinders | |(withspeedreguation) || pp- goubleright || 40:40mm | | special 60°
MS: sensor
DL double left 50:50mm
FA: flange
63:63mm
TB: full teeth
bore (mm) 25 32 40 50 63
shaft diameter (mm) 14 16 16 20 20

fluid Filter compressed air
type double acting

max. working pressure (kgf/cm?) 10

working pressure area (kgf/cm?) 1~7

swivel angle

90° (0°, 45°, 60°)

swivel direction

L (left)/ R (right)

swivel stroke

(mm)

9

pressure stroke (mm)

13

15/30 17/34

235



JFC NAS2 swivel & Clamp Cylinders

Theoretical output table

units:kg
shaft .
bore | . eterl piston pressure working pressure area (kgf/cm?)
(mm) (mm) area (cm?) % 3 4 5 6 7 8 9
25 14 3.4 6.8 10.2 13.6 17 20.4 23.8 27.2 30.6
32 16 6 12 18 24 30 36 42 48 54
40 16 10.5 2] 31.5 42 52.5 63 73.5 84 94.5
50 20 16.5 83 49.5 66 82.5 99 115.5 132 148.5
63 20 28 56 84 112 140 168 196 224 252
Air
Preparation
(FRL)
Weight
Pneumatic
units:g Valves
type
basic manifold block sensor flange full teeth
bore (with speed regulation)
25S 0.3 - 0.4 - - Pneumatic
Cylinders
32s 0.7 0.6 0.7 0.6 0.9
32D 0.9 0.8 0.9 0.8 11
408 0.9 0.8 0.9 0.8 1.1 .
Pneumatic
40D 1 1 1 1 1.3 SORASEIon
50S 1.6 1.4 1.6 1.4 1.7
50D 1.8 1.6 1.8 1.6 1.9
63S 21 1.8 2.3 1.8 =
63D 2.3 2.0 25 2.0 -

Pneumatic
Accessories

236



JFC

NAS2 Swivel & Clamp Cylinders

Internal structure and parts name

e SD basic

&

Q} item | part name qty item | partname qty
(M | hexagon steel screw 1 (® | body 1
@ @ 2 E : @ | platen 1 cover O-ring 1
- @ piston rod 1 @ pilot pin O-ring 1
{%} 1{;}1 @ dust seal 1 @ head cover 1
————— @ piston cover 1 @ retaining ring 1
I'ruv:Lq— @ (® | steel ball 2 cylindrical pin 2
: @ wear ring 1 @ spring pin 1
M : pilot pin rod 1
Y0
AN
i [ @
@ FH—©
L _\lr : ®
i o
@ ' @
I (:3
e MF manifold block (with down pressure speed regulation)
s
N
\1 /
oD |
hd A |l
-.\-;E-/ 4
& <
% U
’ item | part name qty item | part name qty
_,_@ O hexagon steel screw 1 B pilot pin O-ring 1
_’—@ ® platen 1 @ | spring pin 1
piston rod 1 retaining rin 1
g ring
®_ @ ®@ dust seal 1 @ cylindrical pin 2
- @ cover 1 cushion screw 1
CE [ I 10 ® cover O-ring 1 @ | cushion nut 1
T I-@ @ piston cover 1 cushion O-ring 1
4o L1 steel ball 2 cushion O-ring 1
@ ® wear ring 1 @0 | cushion socket 1
body 1 @) spring 1
®) pilot pin rod 1 @ | checkvalve 1

237




JFC

NAS2 Swivel & Clamp Cylinders

Internal structure and parts name

® MS sensor

item | part name qty item | part name qty
{%}/L {%} ® hexagon steel screw 1 ©® body 1
/ @ | platen 1 cover O-ring 1
fjh\ l/.—| ﬁh = ® piston rod 1 (@) pilot pin O-ring 1
\1‘/ ‘\'_' &ﬂ - @ dust seal 1 @ head cover 1
\ =: » .f L @ piston cover 1 @ steel ball 2
{%}\\, {%_}1 ® sensor 1 cylindrical pin 2
@) wear ring 1 @ retaining ring 1
pilot pin rod 1 spring pin 1 At
I LLE:I: Prng};f)tlon
: 2 ;
<~ -4@
Pneumatic
N |_@ Valves
il _@
® = ®
_'_@ Pneumatic
'_‘ Cylinders
Pneumatic
Connectors
® FA fla ng e item | part name qty item part name qty
(D | hexagon steel screw 1 ©) pilot pin rod 1
@ | platen 1 body 1
éI§ @ piston rod 1 @ pilot pin O-ring 1
/ ® | dustseal 1 @ spring pin 1
A - (B | cover 1 @ steel ball 2
b NN o (® | covero-ring 1 cylindrical pin 2 Pheumnatic
® piston seal 1 ® retaining ring 1 Accessories
é\:z wear ring 1

7

@ ® @

238




JFC NAS2 swivel & Clamp Cylinders

Internal structure and parts name

e TB full teeth

item part name qty item part name qty
I @ hexagon steel screw 1 @ body 1
// \\\\ @ platen 1 cover O-ring 1
® PR /‘:"i\:! ® piston rod 1 @) pilot pin O-ring 1
YT ® dust seal 1 (&) head cover 1
N // @ piston cover 1 @ retaining ring 2
\“~\‘___H‘s,/ @ steel ball 1 cylindrical pin 2
@ wear ring 1 @ spring pin 1
pilot pin rod 1
R
@
3 ©
> J
o _E—®
5 =yl
o @3
il
External Dimensions
e SD basic
e S (single side) ¢ D (double side)
(A
P T == S o |
L AN 4-0L L AN N v NI
OK
0OJ
L ce
g - > 8
o 2/ | ,_I
| @D
I
FanY >y .
& | F =gl 12
© @l o [o]] <
z : @) |clamping | 0
O (B |unclampin |
STE o © Junclamping__ =
| © |Taper1:10 (2.85°) | ® - O
N1 |

239



JFC

NAS2 Swivel & Clamp Cylinders

e MF manifold block ( with down pressure speed regulation)

e S (single side)

¢ D (double side)

D, wivel | Down | aq | a2 | A3 | B |N3|C |D1|D2| E1 |@E2| F|G1[G2|H @1 |J | K|@OLl M |N1|N2
bore stroke | stroke
25 | 9 13 | 89 |(105.9)| - |65 |39.5| 23 [15.9] - |M6x1.0 6 35| - | - | 35|38 30|46 |M5x0.8] 8 |16.5
15 [108| (128) | 127 | 78 | 45
32 | 11 28 | 19 | 19 [M8x1.25| 8 | 8 |50 |140| 9 | 46 | 50 | 40 [5.6| G1/8 [11.5 19
30 (138 (158) | 157 | 93 | 60 X
15 |108| (128) | 127 | 78 | 45
40 | 1 28 | 19 | 19 [M8x1.25| 8 | 8 |55|140| 9 | 55| 60|48 |6.8| G1/8 | 14 | 19
30 [138| (158) | 157 | 93 | 60 X
17 [124|(150.4)|146.2| 90 | 54
1 1 |25.4|22.2| M10x1. 1 160 1 70 | 57 |6.8| G1/8 | 17 | 21
50 3 34 T1ss (184 4) 1802107 31 > |22 0x1.5/ 8 |10 |60 [160| 10 | 65 | 70| 57 |6.8 | G118
17 |124](150.4)[146.2| 90 | 54
1 1|25.4]22.2| M10x1. 10 |70 [160| 10 | 7 7 18 | 20 | 21
63 3 34 T1ssl(184.4) 1802107 71 > |25 o0x1.5/ 8 |10|70|160|10 | 78 | 83|67 | 9 | Gi8 | 20
&
2 @1 |a | K|loL| m |[N1|N2
bore N2
25 | 35|38 30|46 M5x0.8] 8 |165
32 |46 |50 |40 |56/| G1/8 |11.5] 19
40 | 55|60 |48 |68 Gi/8 | 14 | 19
50 |65]|70 |57 68| c1/8 | 17 | 21
63 | 78|83 |67 | 9 | G | 20| 21

Air
Preparation
(G

Pneumatic
Valves

Pneumatic
Cylinders
= 0 R =
R @ 9 & SZCIN
AN\ | = —= 7 = -
(& i e e S T ]
Y 2\ > V) T
2 3 B -7 -
7 s L N_@ s
L > &S e 4
N 4- 4-oL Pneumatic
Q ] Connectors
oK OJ FCV Min.5
I | . |
F G1 [ |
il
— | — l D a
[a]
E1 © ? E2/ o
|_
a3§j( NE1 b
©
<
":(‘ B [o]] b Pneumatic
Dl 2 o Accessories
o @ |clamping
3 Unclamping HiY RS o
mie © |Taper1:10 (2.85°) O-Ring
O-Ring
7 Swivel | Down
’))60 A1 A2 A3 B (o3 D1 D2 E1 @E2| F G1 | G2 H
bore Y | stroke | stroke
32 11 15 108 | (128) 127 | 78 22 19 19 |M8x1.25| 8 8 50 | 140 9
40 11 15 108 | (128) 127 | 78 | 22 | 19 19 |M8x1.25| 8 8 55 | 140 | 9
50 13 17 124 | (150.4) (146.2| 90 25 [25.4]22.2 \M10x1.5| 8 10 | 60 | 160 | 10
63 13 17 124 | (150.4) (146.2| 90 25 [25.4(22.2 |M10x1.5| 8 10 70 [ 160 | 10
I,
Bore 0/ (7] J K | L | M |O-Ring
32 46 | 50 | 40 | 5.6 | 19 P7
40 55 | 60 | 48 | 6.8 | 23 P7
50 65 | 70 | 57 | 6.8 | 28 P9
63 78 | 83| 67 | 9 32 P9

240



JFC

e MS sensor

e S (single side)

R~ @uwe R e»7ﬂﬁ
[N 7N [N L A
[ T [ N
CJ
F_ &1 F. &t
W — Ly -
E1 P.,gg« NET ] Bl 28 Uher
I I
®(;M o @OM >
< - 1 <
2 om z m|
& M
sfif® | 2l
N M
D25 D32~ D63

NAS2 Swivel & Clamp Cylinders

¢ D (double side)

Clamping

Unclamping

0@

Taper1:10 (2.85°)

e FA flange
e S (single side)

R @@
&—eop

D
L SN K 4-0L

[J

¢ D (double side)

2

241

bor:h’? :;’:;‘:(ee' SDt(::l'(r; AM| A2 | A3|B | c|D1|D2| E1 |@E2 Gl1|G2 | H
25 9 13 | 94 [(1109)| - |70 | 60 |15.9 M6x1.0 35
32 11 | 15 [113| (133) | 132 | 83 | 28 | 19 | 19 [mex1.25| 8 50 |140 | 9
40 11 | 15 [113| (133) | 132 | 83 | 28 | 19 | 19 |m8x1.25| 8 55 | 140 | 9
50 13 | 17 [ 120 | (155.4) [151.2] 95 | 31 |25.4]22.2[m10x1.5| 8 60 | 160 | 10
63 13 | 17 | 120 | (155.4) [151.2| 95 | 31 |25.4]|22.2|m10x1.5| 8 70 | 160 | 10
%’76 o | J | K|oL| M | N1 |N2|N3

bore (%
25 35 | 38| 30|46 |M5x0.8 | 8 |16.5|44.5
32 46 | 50 | 40|5.6|G18 |11.5] 19 | 50
40 55 | 60| 48| 6.8|G1/8 | 14 | 19 | 50
50 65| 70| 57 |6.8|G18 | 17 | 21 | 59
63 78 | 83| 67| 9 |Gi/8 | 20 | 21 | 59

@19
i ) ]
—— J
()4
4-0L
J
G2
T 5
bal 3
E2 ;
-
O=dm 2
<
o
RS VS
©32~ ©63

__@_6_

D




JFC NAS2 swivel & Clamp Cylinders

G2
F G1
5D 8
e
D
E2 -
E1
2,% NE1 ~ @
‘J TTT TTT
U o e
ITleo | I | <
O o <«
H I <
<|
o
o
|®| |®| @ |clamping I I
Ll . Ll v Unclamping Q'Il‘l "M
M
[oTh] ©) |Taper1:10 (2.85°) Air
Preparation
(FRL)
"/,7 Swivel | Down
6o, Al | A2 | A3 | B |C1|D1|D2| E1 |GE2| F |G1|G2| H
bore / |stroke | stroke|
32 11 15 | 108 | 128 | 127 | 78 | 22 | 19 | 19 |[M8x1.25| 8 | 8 | 50 [140| 9
40 11 15 [ 108 | 128 | 127 | 78 | 22 | 19 | 19 |[M8x1.25| 8 | 8 | 55 | 140| 9 P“\e/::v::ic
50 13 17 | 124 |150.4 | 146.2| 90 | 25 [25.4|22.2|M10x1.5| 8 | 10 | 60 | 160 | 10
63 13 17 | 124 |150.4 | 146.2| 90 | 25 [25.4|22.2|M10x1.5| 8 | 10 | 70 | 160 | 10
S
6oy | B[ I | K oL M N | N3
bore Pneumatic
32 46 | 50 | 40 |@5.6-@9x5.5dp | PT1/8| 32 | 50 Cylinders
40 55 | 60 | 48 |26.8-210.5x6.5dp PT1/8 | 40 | 50
50 65 | 70 | 57 |@6.8-210.5x6.5dp PT1/8| 50 | 59
63 78 | 83 | 67 |@9-014x9dp PT1/8| 63 | 59
Pneumatic
Connectors
¢ TB full teeth
e S (single side) ¢ D (double side) ,
/L.J\
Rﬁ R~ /1 \
9 ~ { IW i ]
F. o1 G2
Pneumatic
| o 5 q Accessories
E1
aa% NET b B2 -
Lot m|
ol
sEil 8 |,
< <=
- < <
- -
m
@ |clamping O
- ® ®
Unclamping hofon
Y © |Taper1:10 (2.85°) N M
9 Swivel | Down
"760 Al | A2 A3 | B |C2|D1|D2| E1 |@E2| F [G1|G2 | H
bore / |stroke | stroke
32 11 15 [108 | 128 | 127 | 78 | 12 | 19 | 19 |M8x1.25| 8 | 8 | 50 |140 | 9
40 11 15 |108 | 128 | 127 | 78 | 12 | 19 | 19 |M8x1.25| 8 | 8 | 55 [140 | 9
50 13 17 | 124 |150.4 | 146.2 | 90 | 15 |25.4|22.2|M10x1.5| 8 | 10 | 60 | 160 | 10
7
2
12 M N | T1x2P T2
bore 207 x2PCS | @
32 M50x1.5 | PT1/8 | 32 11 70
40 M55x1.5 | PT1/8 | 40 11 75
50 M65x1.5 | PT1/8 | 50 12 85

242



